SI2019 (1) (M1)
1.

2-

Pulitzer Prize is an award for achievemenis
n which of the following ficld 7

(A} Newspaper, magnzine und online
journalism, lterature ind musical
composition in the United Stutes

(B} Scienufic uchievernents in the Europe
and US A
()

Sports aehicvements in the Asia and
Europe

(D} None of the abave

Ihe velocity of a paricle moving along the
Y-S varies according 1o the ::tpn:'siiﬂ"
Y, =40 - L where v gy i meter per
Secongd und 1 s jp seconds, The averape
aceelerution iy the time inlerval | = l‘]jin

- 10 ms-2

By -20ms:
A ms-2

(C) (D) =40 ms-?

Pandit Neki Ram S

Andil v harma concentrated hig
Nationalist activir

les in which region of

Haryang 2
(A} Kuomal (B) Hisar
(C) Rewari (D} Rohwk

4. Ifthe !'n:l[uwing five word
alphabetical order, which
in the middle ?

Druw, Read, Play, Back, Want
(A) Draw (B) Read
(C) Play (D) Back

S are arranged jn
word will coma

If + means %, x means +. + meins -,
=meuns X, then 50— 10x 20+ 5+2§s

(A) 520 (B) 500

(C) 490 (D) None of these
6. The town which was founded by Firoz

Shah Tughlaq is

(A} Gurugram
(C) Hisar

(B)
(D)

Futehabad
Agroha

Biuret test consists in treating the alkaline
solution of proteins with solution,
(A} Pynidine (B) Sodium nzide
(C) CuSO, (D) Sodium nitrate

(0 0 R
Preffian & 8§ A By
1, e g
Wﬁ-ﬁ%ﬁﬂ@ﬁiﬁfﬁk?
el TR ST § EET-Y,
g Emﬁm‘ﬁ?ﬁmﬁﬁw
SUEICRSCI
(B) iy sk i A ey
() ufer s i A Gl IYECRL
(D) S E A T
S T i o e an an dheE
iiﬁ:?:il-‘ & firt _i'.‘iﬂ_‘?w', Fmmi
o e s v 0 s o e R A

AR 1 = (1711 = 25 7 ShaA = #=m g

-

(A) -10ms?  (B) -20ms
© doms? (D) —40ms?
3, vifeA T T I A 3 ATl fafafing
T g & form &3 8 Sfa e 7
(A) = (B) fewm
(©) T (D) e
A TR et ot e sy AR
ﬁmm%,%ﬁhmmmﬁmﬁm?
Draw, Read, Play, Back, Want
(A) Dray (B) Read
(€) Play (D) Back
S. ’Ifiﬂr_a?rar&af.xmmﬂ+,+mmi-.
'm‘ﬂﬁit.mﬁﬁ-ll}xlﬂ+5+2i
(A) 520 (B) 500
(C) 499 (D). 390 @ #18 =
6. fﬁmmmmmﬂam Bl
(A) Tamy (B) wremm
(C) femnm (D) 3w
7. ﬂf{z%&ﬁ______ﬁaﬁqmﬁraq
iaﬁrrfmu‘mmﬁm%mh
(A) firdm (B) wifkam gz
(©) CuSO, (D) dfsgyam:
S0 Yugre2S X 1
______,.;!
G4 s0=t0
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8. 1'1:1-: Lol all fngagey 5/2019 (1) (M1)
then o by a e o u‘l,"f,‘;‘f? Operation | 8. a s b=u+ b+ | TW YO FhE0
{A] 5 15 |5ﬂETU|I]:|- *%mm?mmwmmt‘
(C) 4 (B) -5 T‘ﬁﬂ"mm
A D) 3 (A) S (B) -5
. Fnllﬂ Huﬂ‘“ﬂu State pg| e, o) =
'fr"t:ld‘ci:-nh | e Heudquaners js 9, mmmﬂ%ﬂﬂmﬁﬂﬁﬁg?
ala :
©) Punchiyly () Karma (A) SfETem (B) F
. l R o . =,
0. Whic, Novel of O, ok i ) S
EIVES information o s 21 KE0S 0, e febm w1 ¥ W I e W
AR T 1 -
e "l:(']'l':!::lrﬂ_lrun_u|1 poari Trovof A &y A T s R 7
Wy . =
(C) Pickwie hi};ﬂﬁ ::i: I[{Idm -.rlrnes (A) afeatzfE= (B) w74 ZrEv
11. 1I"'r-‘5tE-‘.II_'_‘]-[I.I-..[_:..-,, Jerminal () Fafasimd (D) Fffa
RS can g
bytes of characers, 0 “P 0 — | 11 VARCHAR2 FE T AN
(A) 5000 X)) At siETh o aE E | |
(C) 6000 (D) 8000 (A) 5000 (B} 4000
(C) 6000 (D) 8000
12, The High Court ut Lyhoy : S :
in the year TE Was established | 12, @R § I=9 Awren T |
(A) 1915 v fm
© 1919 :Ei 1916 {A) 1915 (B) 1916
% Which 1918 (C) 1919 (D) 1918
. ich Article of the Indi ftuti TG | a.{aﬂ}_, -
provides an inL!Epe:delltlglllffl?:::“mlm 13, . 1 F ;W < T |
Commission ? A ATE W FATE 7
(A) Anicle356 (B) Article 370 (A) 3TWTI56 (B) IF=E 370
(C) Article 324 (D) Anlcle 320 27 32
2 (C) == 324 (D) ¥g=9= 320
M- How, s gy e e s n e |14, T BACKLASH 799 fom s,
ad Mg 5 us . = -
far awauy from the beginning of the word B TeT 9= A | 39 8 @ ¥, fe
ft;-;—..;?mj;[';m the beginming in the English fF S Toiamen 6 TFEHA A R -E‘
(A) None (B} One (A) =1 7 (D) =
(C) Two (D} Three AC) 2 (D) ™
15. Choose the word which is least like other | 15, 5= w1 ﬂﬁ'qm e F 37 T B ged
words in the group. 7 e & )
(A) Calf (B) Cub (A) ¥ - (B) T
(C) Piglet (D) Hircling (€) =3 (D) Wz
16, Number of districts in Haryuna State is 16. wfeamm = & e 1 wem e b 7
(A) 22 (B) 23 (Ay 22 By 23
©) 24 (D) 25 C) 24 (D) 25
3. o A
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1) (M1)
mnlq{ }'mp (G, «) hus 10 elements. The
o A' iF:,|'-.||,1r|1 number of elements of G which
l ]
nT::heir owi inverse is

By 2
(A |

c) 0 (> 92

In SQL functions are used
IHI- n - N

to implement calculation based upon n
0
particular column,

(A) IN (B) ORDER BY
(€) Aggregate (D) BETWEEN
19. Wiich of the following city bagged the
title “'India’s cleanest city" by SWﬂEhh
Survekshun = 2019 7
(A) Indore
(B) Kochi
(C) Pamng
(D) None of the above
20. Which Presidr:n‘t of I_..ISA said, *Plang more
Wheat, whear wij| Win the wur* 2
(A) Jefferson
(B) George Washingion
(C) Roosevely
(D) Wilson
21

The I:IHI'}’U,HI] Lokayukia ACt came into
force in the vear

(A) 2005 {(B) 2006
(C) 2007 (D) 2004
CH, CHO
2y o) CrDICII ‘
This reaction is called
(A) Jone's oxidation
(B) Etard's reaction
(C) Darkin Teaction
(D) Chichibubin Teaction
A

18.

19.

20,

2'1

22,

Scanned by CamScanner

26.

28,



b g

23, Nitinranks eightee
49 students, What i

'“J'I_in a class of
s his rank from tha

lust 7
(.M IE fB] 19
© 31 (D) 33

24, Minimize the expression ]
Flo. by =ub+apn a'b
(A) a'+b' {H}'
(C) a'+hb (D)

i+l

u+h

15, The Gram Nyayalaya estallished under
Gram Nyayaluya Act in
(A) 2005 (B}
(C) 2007 (D)

2006
2008

26. Which leader of Constituent Asscmbly
considered the Constitutional Remedies

Right as the “Heart and Soul of the Indian
Constitution'" ?

{A) Dr. Rajendra Prasad
(B) Dr. B. R. Ambedkar
(C)  Jawuhar Lol Nehru
(D) None of these

17. Complete the analogy :
Bird : Fish : : Aeroplane : ?
(A) Submarine (B) Ship
(C) Boat (D) Crocodile

28. Gandhi Peace Prize — 2018 was
awarded to

(A) Japan's Yohe! Sasukown for his
contribution In Leprosy eradicution
Vivekananda Kendru, Kanyukumari
for rurul development, education and
development of fatural resourees
(C) Akshayn Patry Fuundmlnnl for
providing mid-duy meuls for
children ucross India
(D) None of the above

(B}

Wil
==

26.

7.

8.

512019 (1) (M)

A so ot A g § 18T ETE
e < & e e 71 €7
(A) 18 ® 19
(€ 31 (D) 32

e e P R L LU
F(w h)=ub+ab"+ a'b
(A) a'+b' (B)
(C) a'+bh (D)
Forvg rd ¥ werfiee o T ¢

(A) 2005 (B) 2006

(C)y 2007 (D} 2008
ﬁﬁmmn%ﬁmimﬁ‘ﬁ%mﬁiﬁﬂlﬁi

¥ stfirrii @) Tl R a3

=1 o

(A) 2. ez wEE

(B) =M. 1. ¥, a=EE=

(C) SaTE ol 5=

u+h'
a+h

(D) %H | Fg A€l

W] 7 T .

ﬁaﬁ:qu?ﬁ::ﬁrim:?

(A) g (B) SrEst

(€) 79 (D) WTA=g

T wify R - 2018 § R e

a7

(A) T M 39F § 395 9mEm & Ry
T T T wEETE W)

(B) Fdwrm &7, F=ngwd =
< faremm, foen s sl denet
et - '
(C) &G ST FTSTRIE %) VT ¢
wedl & Y AT e Ieeey

w4 % g

(D) I A & =i

—-—

T ——
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512019 (1) (M1)

1“1- -I-hc I'fh [—— ol : . ;
located I:F"”J Municipal Corporation is
= H.hiWnni (B) Ambula
(C) Sirsa (D) Panipat

A

3o,

Jl.

2

33

15,

The planes 2x - y+d4z=50and
Sx=2.5y + 10z = 6 nre

(A)  Perpendicular to each other
(B)  Parallel 1o each other

(C) Intersect y-0xis

(D) Pass through (D- 0, %)

If day after morrow is Suturday, what
day wus three days before yesterday ?

(A)  Sunday (B)
(C) Thursday (D)

Monduy
Saturday

Which was the first State of Indiz vsed
Electronic Voting Muchine (EVM) for
voling Panchayut elections 7

(A)
(B)
(C)
(D}

Rujasthan
Himachal Pradesh
Gujarat

Haryana

Complete the analogy

Play : Director : : Newspaper 1 7
(A) Owner (B) Editor
(C) Munoger (D) Columnist

Subhash Chandra Bose Park Is located at

{A) Hisar (B) Putwuri
(C) Panipat (D) Ambuln

Aero India - 2019, the 12® editlon of
International  Acrospace und Defence
Exhibition held in which of the following
city ?
(A)
(B)
(C)
(D)

Mysuru
Bengaluru
Chennat

None of the above

25.

31.

34‘

35,

Iy,

frma =7l fEaa g
WW 3fE

(D)
af (7 =) T o AT AT
() T o B A o g
(A) T (B) ®MAT

(C) TEER (D) AR

WA T AR T -] €A W
ﬂqﬁﬁﬁTﬂWﬁﬂWﬁHIE\’h1!h

TSIk L8 e R e e )

(A) A&

By femm=a =

(C) T

(D) wfon

guETE Ul Fifa

e « i wmrER-TE s T

(A) =ie= (B) WUEF

(C) WA (D) =V aE
[N =3 W v ! e 7

(A) fewm (B) Tz

(C) TR (D) ¥aEn
@t’fiﬁm-zmq,aﬁm@ﬂrﬁrﬁ"ﬂ
T T w12 A g G
T8 e st o man 7

(A)

(B) e

(C) =4

(D) 37 & & 78 =t
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40.

42,

Dieck
gg‘.’rrl
(A)
(C)

In wh
Come
(A)
(C)

Comj
7, 26,
(A)
(C)

In wk
and
eslah

(A)
(B)
(C)
(D)

The &
2x +

(A)
(C)
Phels

(A)
(C)



P
16. Dieckman
governed by
(A) Carbanion
(Cy Carbocation (D)

reaction  is
mechanism.

(B) Carbene
Free radical

condensulion

37. In which year Haryana Tourism
Corporation Ltd. was established ?
(A) 1968 (B) 1976
(C) 1996 (D) 1966

38. Complete the series,

7,26,63, 124,215,342, 7
(A) 481 (B) 51l
(C) 391 (D) 421

39. In which switching technique, a dedicuted
and complete physical connection is
established between rwo nodes 7

(A) Packet Switching
(B) Circuit Switching
(C) Message Swilching
(D) Data Switching

40, The angle between the planes ‘
Ix+y+3z-2=0andx -2y+5=0is

?_:
(A) O (B) 5

(C) cos’ G) () cos” (%)

41. Phelgu Tank is the rourist place located in
(A) Kaithal (B) Hls.ur
(C) Panipat (D) Bhiwani

s ! i ! '+'1

2. If '« means =, 2 n:muns "
'=* means ‘%" and ‘3’ meuns vo', then whi

0
would be the value of27>81% 0<h?
(A) 6 (B) 33

]
(C) 36 (D) 30

3z

38.

39.

40,

41.

42,

mﬂq qaad miitia”” R

oy P e & |

(A) wAMAEA (B) W'W“
¢y FrEmeaa (D) Ll
ﬂ,—gaﬁﬁmwmﬁmﬁﬁ”“
B 1976

A) 1968 (B)

Eci 1996 (D) 1966
e 0 T |

7,26, 63, 124, 215, 342.7

(A) 481 (@) 51l

(Cy 391 (D) 421

Py e it 1, 81 18 % =9 O
Tt i ot ek g et
e ?

(A) Tz fEfem

(p) fteg f&fEm

(Cy wewm f=rf=m

(D) =i=2 fErEm

AT x4y +3z2-2=03M x -2¥y+5=0
FdE TR AR T
n

(A) 0 ®
() cos’ [%) (D)

cus"(%)
] &, TF Y0 e wE w fRm 7
(A) *ud (B) fiwm

(C) T (D) Frarh

FIM *<" 1 HOTE ", > 551 ey
<
27>81 59 <6 F AT 4 7 '
(A) 6 (B) 33

(C) 36 (D) 30

A
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Ll llﬁllllm“‘ (

_ 43, B dofes Seen Rl
ﬂﬂlﬂ‘[l] fn':? potential enerLy stornd. i 8 TafmEm kR 7 m{m%"aﬁ mm
1 1::1";1;: [r;r-:c constant k 18 | S !
1 L? @ bk (A) Fmv (B) %kx
i - )
:[‘] %}.‘_"{: (D) J_,-m\' [C] %I\.?ﬁ lD] %m?
44. Camplete the series | H. @ﬁﬁm\
24,16, 128,7 . 2.4, 16, 128, 7
(A1 2041 (B) 2045 (A) 2041
s " - (B) 12045
i 26 (D) 2048
. i” I - | (C) 2046 (D) 2048
8. The Pratupgarh Farms are located in 45, W v w7
(A)  Hisar (B)  Kurmal (A) : T T
(C) Jhajjur (D) Faehubad (C) ===t :g’ ":,
46. A typical voice signal has 4 bandwidth of = P
W ax 6. T W st e ) e
. Hz (B) 3GHz TR | T
(C) 3KHz (D) 4Gilz (A) 4Kz (B) 3GHz
41, Which of the foll ) R o) e '
' ch ot the tollowing is the project name ofefas 4 ¢ :
for the India's firgt manned mission 1o i e b H ﬂ?{ o fewwm 021 73
spuce by December 2021 9 SFi 3 s 5 et ATl B i
(A)  Gaganyaun Project WA ? -
(B) Chandrayaan Project {E} ey {,qﬁf'-. il
(C)  Mangalayaan Project :L:C]] m.lT- ‘E -
(D) None of the above (D) Eq.a_ﬁq s s RS
H i
48. Ais3yearsolderio B und 3 years y
: Syounger | 48, .‘ ]
to C, while B and D are twins. How many ;;‘{;‘" 'H'I'E'r EE CHigmoe
years C is olderto D ? ﬁl : B“'ﬂ?n:ﬁﬁ!.[}ﬁcﬂiﬁ :
(A) 2 (B) 3 (A) it 1 f
(C) 6 D - B |
‘ =y © 6 ED; ::2 |
49. Thedistrict Rewuri i situated inthe Southern 49, Ty Ll
part of Huryana, how many kilometers it © S TR R ey e f @i ©
away rom the Nutiona! Capital 7 'ﬁﬁ'ﬂm%rﬁﬂuﬁ 1T . ' " |
(A) 20km (B) 40%km (A) 20 Frat 1 7 3 e s R
(C) BOkm (D) 60km ©) ;n b (B) ap fre@
Zal “EI D =]
50. Thn;uﬂﬂi:; ?:\dt::n]r:ﬁ;‘.mhbttwccn 100 and | 8p, 100 3 lnmﬁ;m{ﬁ] 60 FraeE= |
isible by 13, is vt et
) 31674 ®) 37746 :‘113 9 e o
. (©) (D) 37764 m]] 37674 (B) 37746
3
" L (D) 37764
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51,

35,

56.

The equation of the
! e paral) -0xi
and Passing through the nl:i;?n ::sl 0 reis

z By X_

=Y _
] 37

none of thege

‘.A:‘ K=}'=

oM

x
) A
'3

o e

__E'-_D
o D

In which Year Suye Runrg;misuiiun
Commission Was estiblishey by the
Gm'crnmcnl of India 9 '
(A) 1947

(B) 1952
(C) 1954
(D) 1962

Sarpdaman s the ancient
city ?

(A)  Safidon

(B)  Sohana

(C) Sirsa

(D) Sonipat

name of which

IMBEX 2018- 19, biluteral army exercise

between which of the [ollowing countries
(A)  India and Myanmar

(B) India and Maldives
(C) Indiuand Maduagascar
(D) None of the above

The sum of all integers between 200 and
800, which is divisible by 9, is

(A) 32967

(B) 32976

(C) 32796

(D) 32769

Which one of the lollowing is not in the
cutegory of communicution chunnels ?
(A) nurrow bund

(B) broad bund

(C) light band

(D) voice band

S1.

52.

n
s

55,

56.

512019 (1) (M1
e 5 A & AR T
a7 R T 7

(A) 1947
(B) 1952
(Cy 1954
(D) 1962

. EE, M e TE R ?

(A wfE
(B) Hremn
(C) Tamm
(D) Hr

. TauefE T snems, IMBEX 2018-19

ﬁﬁ%&r%ﬂ#zﬁaﬁiﬁ?
(A) W aft =

(B) et 3 wrereiy
(C) ¥ 3N My

(D) I745d | & v 7

200 3 800 % HFrg iy i

9 d oy} e amah
(A) 329677

(B) 32976 ~

(C) 327967

(D) 32769

Frefeftre 4 & 2 ar o
Ay ? mwuﬁw

(A) T ¥
(B) hw ¥z

(C) wFm 4z
(D) af3#x

A
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57.

S8.

59,

60.

61.

62,

Sonipat city is famous for which industry ?
(A) Cotton clothes (B) Cur
{C) Cement (D) Bicycle

A coil has an inductance of 53 mH und a
resistince of 0.3562. If a 12V emfis applied
across the coil, how much energy is stored
in the magnetic field afier the current has
built up to its equilibrium value ?

(A) 55) (B) 311
(C) 233 (D) 100)

If A is square matrix, then which of the
following is not true 7

(A) A+ A’ issymmetric

(B) A— A'isskew symmetric

(C) AA'is symmetric

(D)  A?is symmetric

Bhindawas Wildlife Sanctuary is situated
in which disirict ?
(A) Fuaridabad

(C} Gurgaon

(B) Rewun
(D) Jhajjor

Find the missing number,

(o |12
N/
(A) 1] (B) 12
(C) 22 (D) 33

State of democrucy in the world in 2018 is
releused by

(A) UNICEF

(B) Economist Intelligence Unit
(C) Amnesty Intemnational

(D) None of the above

How many members are sent to Rajya
Sabha from Haryana ?

(A) 3 (B) 7
(C) 2 (D) 4

57.

58.

59.

60,

61.

62.

63,

(U IR IO Eme g
sirdira e Fr e o RO Wi R 7

(A) Hdl e (B) =1

C) R (D) W

G ﬁﬁEmH?ﬂﬁT}’Tmﬂjﬁﬂﬂ
i & 12R 12V R - A (emy)
Frgpoaeh F e emar A 8, @ faga s
Hged TH a1 & a8 gahid &7 F fre
Fl WETA BT & 7 '

(A) 55) (B) 311J

(C) 23] (D) 1001

7R A wf srrege B, A e d A v,
wEITER?

(A) A+ A' mafia

(B) A-A'famm gufim g

(C) AA' TR

(D) Alwufia

Przam g g TFa s g
Bkt

(A) wiRER (B) tard

(C) T (D) w=W

T HEAT 370 F, |

(o |10

e/

(A) 11 (B) 12

(C) 22 (D) 33

2018 # fvg & wrwen & fyf e o
HukEnET K i

(A) Efﬁ'ﬁ?

(B) et Tty

(C) T wdivEe

(D) Svdwmd & wnf ff
Eﬁﬂmﬂmﬂﬁﬁimﬁﬂﬂ
(A) 5 (B) 7

(C) 2 (D) 4
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g
ingle foppy-disk
o A SINE K controller  board
supports @ ribbon cable, =
(A) 33-wire (B) 2l-wire
(C) 30-wire (D) 13-wire

68,

69,

In which of the following year, the Imperial
Forest Research Institule was

Dehradun ? Rl
1885

1906

{A)
(C)

(B) 1895
(D) 1926

Western Yamuna Canal is derived from
Yamuna River at which place ?

(A) Bhakra-Nangal (B) Kaornal
(C) Tujewala (D) Salhawas

onef; 3ol eefs

then matrix D such that CD - AB=0 is
lgl llﬂ {H-:l _]g.l _“u
77 - 77 44
9] 10 19 u]

© [T 4] [l? 14

What was the reason for q=fcn1 of Haryanu

warriors during 1857 upnsing 7

(A) Paucity of arms

(B) Non aveilubility

(C) No co-operation
dominions
(D) All the above

of leadership
from Uf.hﬂf

Find the missing number:

o 1o
s 2
50 12 |4 51 9
. 3
[B} 16
A) IS
([c: ” o 8

64.

65.

66.

68.

69.

572019 (1) M1

Y fea
3 oy ) el 2 8
(A) 339 (B) 21T
(C) 30T @ 13T
ﬁﬁﬁf@ﬂﬁﬂﬁmaﬁﬁwﬁﬁﬂﬁﬂ“mﬂﬂ f
m%wﬁwﬁﬂm“‘"“‘?
(A} 1885 (B) 1895
(Cy 1906 (D) 1926
qﬁmmmﬁmmﬁﬂﬂmﬁﬂ
Pt 8 7
(A) wiEgl-qma  (B) FAR
(C) T (D) TweEd

B e

A 3R D F E, FE CD-AB=0% 7

(A) [191 uu} @ [-191 -110

77 44 717 a4

91 10 19 11
() ] (D)

[? 4 [17 14}
1857 1= R ¥RATN F it 3 mrery
Enu ki -
(A) IR AT AT H 7 Ry
(B) g 7 e

(C) ¥ Feareal =1 Hed 7 feygry
(D) F9trE Tl

e S I =t |
3 6 A
s| 12 |4 5] 18 |2
Ll
2 3 i
9
(A) 15 (B) 16
(c) 17 (D) 18
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5/2019 (1) (M1)
70, NASArecently plannedto launch unmanneg

74.

nur:lr,:up powered drone, Dragonfly. Why, is
the aim of this moject ?

(A)  Aims to search the alien life op
Jupiter

Aims to corry the Astrongy;”

Mars aut s [ lht.'.
Alms to search for s; Ens of
microbiul life on Saturn®
Tian

None of the ubove

(B)

(C)

5 Moon,

(D)
\Tn; Samrat Baba Ramdey was borp j
which district 7 o
(A)
(B)
(€)
(D)

Bhiwanj
Rewan
Mahendra garh

Gurgaon

The value of ¢ if A = l:msu i and
A+ A =[is sine  cosa |

(A) ® %

7 o) %

Serial port transfers duta senally bit
at a time,

(A) 2

(B) 8

(C) 16

(D) 1

The lowest unit of Panc

Huryano is
(A) Taluk Punchaydt

(B) @Qrum Panchayat
(C) Block Panchayul
(D) Zils panchay®!
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74.
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(A)  ewafy w gferaw S H1 @ FA
(B)  sinfeg arfara =1 57el % © ST
(C) = ¥ iz, zyged SO GAHEATEI 6

e & ToFa] w1 @
(D) s & 3 g A
T =7 e 1 e e et
TATY
(A)  firar
(B) =
(C) "=
() Tzmi

COST  -5in

uﬁn:[ﬁinu ccﬁz}mh-hﬂ;___]%.
T aFmE 2

A A
© 7% o %

Wﬁiﬁm&ﬁﬁm“
ﬁ?ﬁﬂm‘iﬁﬁﬁmtl
(A) 2

(B) 8

€ 16

(D) 1

i # dumm
.
(A) RTER e
(B) I YHTUR
(C) =T Tamm
(D) Toren damm
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English Language

A)in the blanks with approprigte phrase -

fl

el
(A) setoul

(B) make out

(C) setupon

(D) setolf
rse eppropriate linker to fill in the blank :

% He has neither attended the meeting,
has he sent a message.
(A) or
(B) but
(C) nor
(D) et

. «imple present
f'.ungl: the following senlence 1 simple P

Nse -

™. They are playing
(A) They have playe
(B) They play LI'IC
(C) They played €7¢
(D) They have bee

Fillin the blank with app™
e options ! || day-

W, You have bee”
be very re

(A) can
(B) must
(C) muslh
(D) could

ave

¥

52019 (1) (M1)

79. 1 have lost one of my gloves. | ———
dropped it somewhere.
(A) must
(B) could
(C) must have
(D) would

Choose the correct indirect form of the following

sentence from the given options ! \

80, She said “The earth goes round the sun™.
(A) She told that the carth g0 round the
sun
(B) She said that the earth goes round
the sun
(C) She seid that the earth going round the
sun

(D)  She said that the earth has gone round
the sun

Choose the pan of the following sentences which
has an error :

81. Our happiness or our SOITOW is larg,r:ly duc
Lo owr own actions,

-

(A) OQur happiness or our sorrow
(B) 15 largely

(C) due to our own actions

(D) no erTor

Choose the correct word to fill in the blank -

g2, We must not violate (he

lnw. af
(A) Canons
(B) Cannons
{C) Cuneons
(D) Cenons
A

WY
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(D) =
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(A) Iz
(B) ==mm
(Cy 3I=m
(D) 3=

T ¥ e
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(B} L
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(D) 3=

LE R
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(A) Tm

(B) Hma

(C) 7

(D) =+

52 + 379 = 95 TE afud)
(A) 2

(B) T
(C) T
(D) T,
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(D) =
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(A} = a -
(B) & e -
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() = w o
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